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17. What kind(s) of figures cannot be
) formed by fitting six isosceles right-

Challenge

angled triangles of the same size
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18. In the above figure, Sam was walking
in the northeast along the footpath.

Hot

together?
I. square I. E75T
II. parallelogram . F4rwif
I11. trapezium II1. # 7%
A. Tonly A AAI
B. IIl only B. RA I
C. IandII only C. AAIAI
D. 1I and III only D. 2A A
Store Station
12 A J& # 3k

When he arrived at the junction, in
which direction should he go in order

to reach the station?

east
northwest

southwest
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southeast

Sam
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Sales of Cakes in a Bakery
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36. (a) Asin the graph above, were the 36. (a) e LE - NRAWndEEGH =
sales of cream cakes in August L A2 $EEZY 2 MES
more than or less than that in July? Y2 (RASHEEE) [247]
What was the difference? (Give
the answer only) [2 marks]
(b) The table below shows the price (b) FREATSHKETHGER -
of cakes.
Type of Cake Cream Cake Fruit Cake Matcha Cake
FAEAE A Wy iy B AR, KR EAR R RAR
Price
18 $80 $120 $150
The manager believed that the RILIA B IR GBI A
income in September would be HER o IRE &g ? XAAE o
the same as that in August. Do you [4 4]
agree with him? Explain. [4 marks]
End of Test Paper
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A. 14cm B. 28cm C. 56cm D. 84cm

2. ~ Seek i
28cm ”: |::> § ~ = ; \Fs)g o §

38cm
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A. 120cm B. 164cm C. 192cm D. 220cm

=> BAHOESHEE -
l4cm Q
e LB AR KERN o FROBAES Y 2 (Ra A

A. 434cm’ B. 1034cm’
C. 1188cm’ D. 1496cm’
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14cm
A. 70cm’ B. 112cm’ Sem
C. 210cm’ D. 266cm’
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(B n % 3.14)
A. 18.55cm B. 23.55cm e
C. 28.55cm D. 33.55cm '
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